H & 0l & AHS B Ml A

20248 =0ila eI S

2N DEFMY
Hu: (ZLE 54 U
el sws 018 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
wWSF M 113,114,050 114,992,590 1,878,540
= 7,525,700
[ 11,457,000
Jl 5,243,000
e 122,400
S 82,245,750
= 6,520,200
Hsus 54 XN& 76,496,610 93,853,427 17,356,817
= 7,468,400
[ 11,457,000
Jl 5,243,000
< 48,258,010
= 4,070,200
tsws 018 K& 37,679,715 0 37,679,715
= 6,613,000
[ 5,868,000
Jl 5,243,000
< 16,168,715
= 3,787,000
HELSOIESX A 9,944,000 0 9,944,000
& 6,157,000
= 3,787,000
201 er23 | 520,000 0 520,000
01 At2teltl 20,000 0 20,000
Olisuns olzgdst 20,000
02 S3=4gl 500,000 0 500,000
O LSNSIE AAHE 2 BHH
A2l 54 500,000
301 22N = 500,000 0 500,000
03 A 2E A4S (XL THH) 500,000 0 500,000
O2x FJIsxtd ustHl X2 500,000
308 XXM SOIA 8,924,000 0 8,924,000
= 5,137,000
= 3,787,000
01 XN BSELES 1,350,000 0 1,350,000
OO0EI0l HAE HAH| X2 (ZelH) 1,350,000
18 S| 2SS ZB XA AIE 7,574,000 0 7,574,000
OO0fglol EAE HAH X (&823) 7,574,000
== 3,787,000
= 3,787,000
Lol S tsusE 018 g43H(3HI) 12,000,000 0 12,000,000
Jl 5,243,000
s 6,757,000




2N DEFMY
M sus |84 &
=?el: tsus 0l K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOIH 12,000,000 12,000,000
Jl 5,243,000
== 6,757,000
01 XN BSELS 12,000,000 12,000,000
OkQl S tisus 0l g4st 12,000,000
) 5,243,000
S 6,757,000
290IsAEdH =29 1,144,743 1,144,743
201 2= 70,637 70,637
01 At22t2l] 70,637 70,637
OSSZ0ISAHHE 2MAIAE X AR
o X 70,637
307 elzto| & 1,074,106 1,074,106
05 21t =S 1,074,106 1,074,106
OSEZY0ISANEHH 22 1,074,106
wWSSA OlsE S 1,149,072 1,149,072
308 AtXIEMSOIE 1,149,072 1,149,072
01 HASHHBSEXS 1,149,072 1,149,072
OSgusS=t 28X& 1,005,000
OSgus=t 2SR (MRMHLH]) 54,072
SgussH 234 EX(=4]) 1,985,500 1,985,500
= 1,985,500
308 AtXIEMSOIE 1,985,500 1,985,500
= 1,985,500
01 XN BSELS 1,985,500 1,985,500
SgussH 284l Bx 1,985,500
= 1,985,500
SHENESHEAET(I2YI) 867,100 867,100
= 667,000
< 200,100
403 MR HHMSAHE01H 867,100 867,100
= 667,000
& 200,100
01 MXIHHA 22 867,100 867,100
OuSefA OlSAte AR 867,100
= 667,000
= 200,100
Matt A &£ X (=2Hl) 3,960,500 3,960,500
= 3,960,500
403 AXIEHMSAH=Z01d 3,960,500 3,960,500
= 3,960,500
01 A= 2L 3,960,500 3,960,500




2N DEFMY
Zu: (Z0E S48 X
&elr tsus olg N& (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OM&HA &2 X 3,960,500
= 3,960,500
sZ8 WS2Y(ZE) 3,003,100 0 3,003,100
= 2,681,000
=S 322,100
308 XXM SOl 3,003,100 0 3,003,100
= 2,681,000
< 322,100
01 XN BSELES 3,003,100 0 3,003,100
O338 8AXE(58:2) 719,400
= 654,000
& 65,400
O338 HAXR(=sES) 2,283,700
[ 2,027,000
= 256,700
228 HAXA(ZSE) 2,578,500 0 2,578,500
= 2,235,000
< 343,500
308 AXIHMSOIA 2,578,500 0 2,578,500
= 2,235,000
& 343,500
01 HASHHBSEEXS 2,578,500 0 2,578,500
OZ238 HAXR(ZER) 2,578,500
[ 2,235,000
= 343,500
238 HAIXNA(ZE) 1,047,200 0 1,047,200
s 952,000
s 95,200
308 XXM SOl 1,047,200 0 1,047,200
= 952,000
[ 95,200
01 XN BSEES 1,047,200 0 1,047,200
O3 HAXA(ZER) 1,047,200
[ 952,000
= 95,200
28 Nd & |4 37,420,730 66,763,134 N29,342,404
= 214,500
[ 5,589,000
= 31,401,230
= 216,000
ASIHA 2t ALY 11,605,000 9,955,000 1,650,000
207 ARl 235,000 85,000 150,000
01 H1ESH| 235,000 85,000 150,000




2N DEFMY
M. H=znE 84 A
el 28 Ad € 54 (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OAHA BE=R24H B82S 85,000
Of=us 2Z==X =24 2 NHIAED 2
e 150,000
307 212+01™ 11,370,000 9,870,000 1,500,000
© 2 HEXS 11,370,000 9,870,000 1,500,000
OAIQIHA MHEXIA 10,510,000
OA2IBHA ZGMEIAMNS XI& 860,000
B XIS (ZE) 4,761,700 5,585,000 A823,300
= 2,801,000
= 1,960,700
308 AXIHMSOIH 4,761,700 5,585,000 A823,300
s 2,801,000
T 1,960,700
01 AXISHNEAELRZ 4,761,700 5,585,000 A823,300
OANMUsSHEHA 8HIlbd 2EAF X
A 4,761,700
= 2,801,000
& 1,960,700
HASAX DX NSNS (2E) 2,788,000 2,507,000 281,000
= 2,788,000
403 RXISHS K201 A 2,788,000 2,507,000 281,000
= 2,783,000
01 XIXISHI A= E & 2,788,000 2,507,000 281,000
OANMUsSHEHA SS XX K& 2,788,000
= 2,788,000
AMUsSHEHA 263 ALY 16,111,440 13,414,265 2,697,175
& 15,895,440
£ 216,000
207 AR Y| 295,000 270,000 25,000
T 79,000
g2 216,000
01 H2=29| 295,000 270,000 25,000
OANUSHEHA 2E5EUERN SEEYS 270,000
T 54,000
£ 216,000
OAUsHEHA 2URE ME HEEY 25,000
307 212+01 ™ 1,000,000 1,000,000
09 2+AHEES 1,000,000 1,000,000
OAUHsHEBHA S MEIAINE IR 1,000,000
308 AIXISHMSOIH 13,816,440 11,144,265 2,672,175
01 XIXIEHHBAE LS 13,816,440 11,048,265 2,768,175
OANUsHEHA Hldd MEXE 13,500,000
Os<EE A 2 (sX22ld]) 316,440




A NSEM
M sus |84 &
el 228 NE 2 54 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
403 AXIEHMSAH=01& 1,000,000 1,000,000
01 XM= 2L 1,000,000 1,000,000
OAlLHSOEHA HEIXEAIH 1,000,000
HsusS A& 23 At 648,130 1,529,605 A\881,475
401 AIZHIX S0 100,000 0 100,000
01 AlZH| 100,000 0 100,000
OUXE SgHOIE M= 100,000
403 AXIEHHSAH=201H 548,130 961,605 A413,475
01 XIS A=E £ 548,130 961,605 413,475
OWAUTISIHHAEDIE SZHA 285,630
Oollatz =2l HAZRE EX(Z2EF0) 7,500
OOtAMAl HHAFZOHND| HXI(Z2IFN) 90,000
OOHAl 88 HASTE EXI(Z21F0]) 15,000
OZESIHAHDIE SZFHA 60,000
OHAYFRE 222X EXI(HHAl) 50,000
OHES ANE HARRH HXI(FHAI) 40,000
SAl 2 X2 4 X2 (24]) 214,500 171,600 42,900
= 214,500
308 XtXIEMSO0IE 214,500 171,600 42,900
= 214,500
01 X SHHBAEXS 214,500 171,600 42,900
OZYAl X222t X3 214,500
= 214,500
Al 2 At 1,291,960 796,910 495,050
201 er=2 3| 9,050 0 9,050
01 AtR2t2|HI 9,050 0 9,050
OHAl ZX#Ee 2 Wsus BIRIEE
2ds 9,050
207 ARl 120,000 120,000
01 HESHI 120,000 120,000
OFZEL GAN2YERE MEEY 120,000
307 elztol & 82,500 82,500
02 2B HAIAE & 82,500 82,500
OEAI2F=gA =AY etotsStal X2 82,500
308 AXIHSOIA 932,410 582,410 350,000
01 HASHHBSEXS 932,410 582,410 350,000
OSEIMHUEAISOISHFUS 10,000
O-QUEIAI2=BAAL CAL23t EEALY 7,500
OE-CEEA 28X 464,910
ORMISZE BHAIS S AL SHAIH 90,000
O-QIEAl ZX2e 2202 JHEA 360,000
403 AXIEHMSAH=201H 148,000 12,000 136,000




2N DEFMY
M sus |84 &
el 228 NE 2 54 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AXISHHA=2 2L 148,000 12,000 136,000
O=Al LHHIXH X1& 100,000
OEaAl LED ot a2 & X 9,000
O Al SHAl IHEHHAIISEX WA 24,000
OS4=Z HAHAl SHH JIsES 15,000
wWEMA & FANSY == 1,39, 165 0 1,39, 165
= 640,900
== 688,065
£ 67,200
SHHA 2EMA WS 111,000 0 111,000
403 AXIEHHSA=201H 111,000 111,000
01 AR A =2 £ 111,000 111,000
OdtA 2SHA HE A8 &858
s 44X X 111,000
LS USIE X 242,100 0 242,100
= 242,100
308 XtXIEMSO0IH 242,100 0 242,100
= 242,100
01 HAHHBAEEXS 242,100 0 242,100
Og2suSIHte A OtelXl K& 242,100
= 242,100
sl XN 644,265 0 644,265
= 577,065
= 67,200
308 XM SOIE 644,265 0 644,265
s 577,065
= 67,200
01 AX N B EES 548,265 0 548,265
OTCHAl stsgol X3 548,265
18 SISOt EAS A 96,000 0 96,000
OZe2 lisus stsed MIEX2 96,000
= 28,800
= 67,200
wSIte A K& 398,800 0 398,800
= 398,800
308 XXM SOIA 398,800 0 398,800
= 398,800
01 HAHHBSEXRS 398,800 0 398,800
OtisnstHl &8 X3 K-H2) 398,800
= 398,800
wWSotH 2 XS 2el 36,339,800 20,870,843 15,468,957
= 57,300
e 122,400
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SN RSB
M DEON U NEX 22
el NEetH S EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| oFzs Ao=c(SREXNY, YR 50,000
DE SO N 248,000 248,000
307 212401 248,000 248,000
02 LB HAHE X 248,000 248,000
OBYRY2HN BLENS BsHl 1 17,000
OB =M0ILIES 25U N 11,000
OREQHDST ¥ 228 S X 220,000
DX 2G| A BHE ALY 57,300 0 57,300
= 57,300
308 AXIHHSOIA 57,300 0 57,300
= 57,300
01 MASNBSEES 57,300 0 57,300
OB5Al 014 NYSMI SHEI5| N&lLH
243t N (20) 57,300
= 57,300
CROHEAIE &3 31,643,500 17,922,500 13,721,000
T 30,043,500
= 1,600,000
SNDAE MRIA(HEAY) 3,415,600 760,000 2,655,600
= 1,815,600
= 1,600,000
401 Al HIZL S 0HHI 1,600,600 0 1,600,600
== 600
= 1,600,000
01 AlZHI 1,600,600 0 1,600,600
OslERAZ &XI(E) 1,600,600
== 600
= 1,600,000
403 XHXI SIS K01 F 1,815,000 760,000 1,085,000
01 AXISHHA 22 % 1,815,000 760,000 1,055,000
Oz uxtz &x1(AlZ) 1,815,000
WEAD 2 R HEAIS (HEAL) 781,000 603,500 177,500
401 AIZHIXL 20HH 284,000 71,000 213,000
01 Al&HI 284,000 71,000 213,000
OREAND XS R H(E) 284,000
403 MXISHHSIH=Z01H 497,000 532,500 235,500
01 REXIEHRIAt 2 2 2 497,000 532,500 /35,500
OREAD FE R HE(AR) 497,000
2027 IHEAI (HEALY) 4,518,000 12,766,000 A\8,248,000
403 XHXI SIS K201 | 4,518,000 12,766,000 8,248,000
01 REXIEHRIA 2 2 2 4,518,000 12,766,000 8,248,000
O0gl0I2=+9S e 4,518,000
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